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s the National Sports Day celebrated in India?

73. thli\uguﬁl-ﬂ B) August23
{}: ,\ugﬁﬁi 28 D)  August 29
SA VT 1 > 1‘5"“' T o . T
-« the theme ol Vigtlance Awareness Week 20237
. “1”1;:1:!::11 (o corruption, COMMIL Lo the Nagjon
J\} e T 8
! regrity and ethics .
I? I E;r:,.:bh gilant; Stay Honesl
0)] Inr'ﬁrmu!inn is Power
When 15 Constitution Day observedin India?
75, T November 26
-BI January 26
() August 13
B]] Jul}' 15
76. Pandit Bhimsen Joshi is related to which form of art?
i A)  Flute player B)  Sitar Maestro
:['; Odissi dancer D)  Hindustani Vocalist
77. Whowrote Mudrarakshasa’
A)  Rabindranath Tagore
B) Satyajit Ray
() Visakhadutt
D) Kalidas
78. Whereis Nanda Devi National Sanctuary located?
A)  Uttarakhand
B) Himachal Pradesh
C)  Jammu and Kashmir
D)  Sikkim
79. Which ofthe following laid the foundation of Lodhi dynasty?
i&! Sikandar Lodhi B)  Ibrahim Lodhi
) Bahlol Lodh; D)  None of the above
80. Mnhﬂr{;éj[};?g:?h signed the instrument of accession on?
Oct 30,1947
Oct 18,1947
Aug 15,1947
A Kip "g?m“l“‘%'migini is?
B) war? of Kashmjr
C) Riy 'n Kashmir
D) g, °f Kings
s of Kashmi
Ir
(stl lﬂ}

(18)
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82. Inwhich year Hari Singh pscended th “"“ﬂr % Maharaja of Jammit and Kashnur
A) 1925 ]
C) 1935 [J: :::_:2
HJ_. "l-\-'lllﬂ is kl'll'l'ﬂ-'n a8 |'|_ll__'1'|l I[u{il!ﬂ tﬂ. H“hhlliu'_l
A)  Laln Ded
B)  Nighat Sahiba
C) Rupa Bhawani
D)  Habba K hatoon
B4. Whoisknown as "Father of Dogr™?
A)  Dinu Bhai Pant B Ram Nath Shastri
C)  Deen Bhanguy Sharma D)  padma Sachdeva
85.  Which of the following fivers 18 also knowy, as Hydaspes”?
A g Hydaspes’
B) Raw
C)  Indus
D) Chenab
86. The largest fresh water lake in Jammu Kaghp.o o
A)  Mansar Lake B)  Dal Lake
C)  Wular Lake D)  Aanchar lake
87. Bhajan Sopori is associated with which instrymeny?
A)  Santoor
B)  Surahi
C) Flue
D) Table
88. Martand Temple of Kashmir is dedicated 1o which god?
A)  Birth God
B)  Wind God
C) Death God
D) SunGod
89. Letridanceisa
A) Birth Dance B)  Wedding Dance
() Labour Dance D) Festival Dance
90. Chenani Nashn Tunne| 15 alsp known as:
A)  New Katra Tunne}
B) Shyama Prasad M“khﬁ]'ue Tunne!
C) Panthal Tunnel
p)  Pir Panjal Tunne|
(Set-A) (19 [P.T.0.
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Alben Einstein
B)  lsaac Newton
C)  Archimedes ' i}
D) Galiloo Galiled I
99.  What is the fuel m_th"s“"? Tt - ; . ‘f'
A) m ool g ,"h i
B_q}: ww --_';I.l t':'l-‘-:[‘: '1‘
D) Pottasium th
s Al A G, T
lﬂ.lllﬁ'lmuq e R
-'a&. Hmm o W8
.
.._H._umﬂ L
S gt wly ad v ol IS

intr ey T tedurg
vmpc) datud o
uhn-'innm nﬂqﬂ"a
SRS e g Py L
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W S '
II‘ .\'LHTEH il |l'|T'Ij!]L" nl Annninig Wik h”.:”
A) Awantivanman
B) | alitadityy

C)  Ashoka
D) Jaishimg

114. Who is known as futher of Kashmy,
A)  Mahjoo
B)  Abdul Ahad Azad
C)  Mahmood Ganmi
D) Rasul Mir

LTy

115. In which month saffron festival is “elebry, g

A)  Apnl
B) November
C)  January

D) September

116. The driving force of an ecosystem i
A)  Carbon Mono oxide
B) Biogas
C)  Solar Energy
D) Carbon dioxide

117. Who among the following nations i, member of BRICS?

A) India
B) China
C) Russia

D) Indonesia

118. Which of the gas is not known as greethose gas?
A)  Methane
B) Nitrous Oxide
C) Carbon dioxide

D)  Hydrogen

119. What does COP28 stand for in the conetciclimate change?
A)  Climate Observations Program ¥
B)  Conference of the Parjeg 28
C)  Conference on Pollution Control *
D) Convention for 070 Protection !

120. In 2019, Which POPUlar singer was s “Idrﬂfcﬁhmyﬂamn award?
A) LataMangeshky = "2 wIAL

B)  AshaBhosle
C) Bhupen Hazarik,
D) Manna Dey At
[&Q-A} """“'"'Jiﬁ(f_._ [P|T10|
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. 60% more thay g lesy
1. ;:nhtyw of Ram i$ hap, Hodeaoush et hﬂh”"’l’y thap
c i{

Bl e Lz §
] 0o A 2,
B) 40% .7 E
71e A, X
ey G B
y 40 )
15
D) 432%
2. Two friends Sita and Gita gave an exay, 9 marks 0 Sita ang
humthmsahf&emmmm“muﬂ;hmmdmwmm% -
of Sita and Gita? ﬁl_,.- X34
A B * (xa-ﬂ e
B 34,43 A =L
» o, C]' 32,41 \ T i o2}
D} ‘3152 ' '1_:"—"-_:,-—{_11

tﬁﬁmmﬁemmmm&ummmﬁm“
es ﬁﬂgmm@aﬂlmmhuummmu{ he new et
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. ) - i of getling
14, Two dice are rolled simultancously. Fing ghe probability of gelling a Multiple of 5 on
one die and a multiple of 3 on the other dice

!
| E
A = 0
a ‘ Y,
H"I .h L= r -
ih J A =
; pa<
| )
(." ‘
13

15. A cardis drawn from a pack of 52 cards. A gambler bets that it 1S €1ther a spade or 45 40
= AC : 5
The probability of losing the bet 1s

| W i
A) 913 '}' + %ﬂ] :f
B) 139 59 : %_,,
C) 413 e
Dy 134 '

¥

16. Four bells ring simultaneously at 9 am. They ring at regular mtervals of 10 mmutes,
20 minutes, 30 minutes, 40 minutes respectively. The next titme when all the four bells

ring together is

A) Ham Do
B) 1030 am

C) 1:00 pm

p) 11:30am

1. Physies, Chemistry and Mathematics books have to

: : be stac i .h a way that all the
e e e o e .
:.r mnﬁ?::cﬁfh*“;gua' the number of chemjg bonk;i ,l:«,,'u“d the number
i . S 15 288, Determine the t A -y
th“;"d"-'muuy and mathematics ‘t:muks. ¢ Number of stacks required for
A 14
B 19 = _‘Ef_ﬂ_lﬁh‘-ﬂ_gﬂ_
9 4 2 ':-D"l-,"aéﬂ'ﬂ““ -
D} 12 e — e m—
3
p I N > 1&{}] ¥ e
) Y |~ —
(Set-A (6) _.E"_,____L_}:E_, Ao, Vb

A_—_
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— 0 con fill an e resPective,
I8, mmefm::ﬂ;:? :ﬂk in *l"’:! m-mm-l'?:lln 20 minutes m;:i?:ﬂ;%u; "’;
tank is full in 12 minutes. The value op, _three pipes are
A) 18 minutes B 215
B) 20 minutes f.,,,,. ¢
C) 30 minutes J
D) 15 minutes .

19. A woll having dimensions 6 1 long, §p, iy 4 ) s ghick is constriCieT ¥ tsing
bricks having measurements 25 cm llilgtm cm. 1 10% d’ﬂ:ﬁmﬂ“‘d with

'ﬂ-)- 6250 -
B) 6160 /P Yo e

il =

PQ RS Tisthe mid-point of PQ. ST QR.Ifthe s of i

.10

el
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al health
. :mwl' communi nealttt,n,l,ml...u. Schy
ﬂm , w,;ul mppurt(hg-"ib?m whlﬂ"ﬂ’"“f“'ﬂhmhfm'&
ﬁw%ﬁaﬁ:ﬁﬂddﬂﬂﬂmtmwﬂmlﬂm‘ ' [ m

on for

the meanin
wing sentence expresses g of m
53. Which :;Tgml:i:!’ in reference to the abquﬁﬂlﬁﬁ |

g il N

gfd,mmentlosthimmyfmnﬂ&  —
B) mmdmdpmﬂﬁﬂmﬂﬁm%ﬂ‘ s AT

1 2 o : wmallmght. csugyioon Hiwe 8.
O mmbhdin ol e i : - gt -k r
” s

1 &
||,ﬁ'

.....

B otial g4
lIJ| st
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s f“’{jr& al P .
Imﬂmﬁﬂﬂphtﬂlplma‘ o Tk alone in 16 days but Vijay g |
e work in 12 days. Abhijit 8nd Vijay work o, aiiemate days. If can finish the

A_ 3
) ;:B#?- mhmllﬂ*i“b'b“i" in how many days? f bhijit works on the
 12days Mo = & doyl
B) o \ = 2,1 /ﬂ (2
Y /
Qs v = nile
! T Dol

fil‘l‘t )
is divided into tWO parts in such a way that the fourth part of the first and the
: second are in the ratio 1:2. The ratio of first part and second part s

: b
'..\.51 - ' =

&:1 it % %x..%j T
@(@: K%’ ' I1xid

he _.ﬁ@rufmplmiﬂm:mllepis

B - %) Eh = WAL = o
<) D —
R et ETIR

same amount as Anaya had earlicr. Find the ratio of
||I yl
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, years older thyy, noW thrice the
10, Pﬁ’g‘;_;;“i‘:’ ﬂi t, Prisha ig |5 Wother and the mother's 8¢ 1% s agge When their
age o s Feirs old, Whltwllthﬂf!w

,_L:) " Feli=M _' 3"4
0 i m= x> = yz

© 2 w
D) 36

—q: " ' = (o
'-‘-l-*-:-.."-.-- Ry N L

Um me. My father was 28 ye I my u:&? {

" gt - hﬁwnit
robability of SP AT S ERREEY of what it was
et 1 H LT A A AL . Iw[ﬁb'”;

.

PTO
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‘

1s
is the only son o

g Mira 10 guests, Mohan said, “Her fatheT

23, [ptroducint
How iw'.‘%hl.lluhluilnMulnn J{ !_,\
a'll .__-
A)  Sistel ll : 4
B) Daughter _J/
Miva

) Mother

[y Niecc

nd 15 the brew
of Neera), Pranas is the son of Ihl'l* \rvine vothar 7

24. Rekhaisthe wile
Rekha related to Soham

and father of Soham. How 15

A)  Sister
& o

By Cousin

=1

'
W
—

) Aunt

W
U,
D) Mother P

25. Find the odd one oul
A) FHI:USQ
B) VTQ:EG)
C) XVT:CEG

D) RPN:IKM

yiven four fi A -~
26. Given four figures have something in common except one, Find the odd
. Find the odd one oul

g’i% 00 |52 [53
B C =
A A
B) B
c) €
p) D
{5:th]

(8)

P TNy
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37. Inacode language s, Wad1198, 1 ; 9|

758374 fe . indthumdefurﬁ‘nﬂ‘
M2aAvLa e
s o bl e
p) 737172

8. :nncm'tainlmsu"ﬂﬁirﬁ“wﬁm““ what o the

figure 12,9,7, 8, 20 stands or* 1.8 as 2, C as 3 and so O™
A Uig, L4

B) MIEGE .

C) LIGNE

D) LIGHT

39. GENERAL is codedas 7555913 How can Koy EDGE be coded
A) 256535475 -
B) 236456473
C) 234567897

D) 658905468

] ] 1

L3
[ ] L
-

af. -
_ 1 . e MAD, Bix
i .mww.mwﬂ*nmmudnmm m s
G m:m well arranged piles BIX. FAC, DIR means pile of boxes. The code for0F
) FAC .
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N
50 students, 10 SMUCCHLS plag o 4o and 20 students plg

ang
t play e
oy . Y cithey
24 0 o
;{ 2 G
30 $ v
3 20

Year's party 300 People were inyited. 200 people OPIed for Ingiqy
& B:eﬂruﬁTﬁaod-md 100 people 0ok continental food. 14 people have hkmbo?d’ =
e alian food. 10 people have taken bor Ialian and €oNNENtal food ang 5 p 1
e aten both Indian and continental food. 6 people have taKen allhree kings oo
mwmxwplehmnnlyltalinn food? j

A} 150 f._ y ; .

I aL | !zn;'l ’ = -

g} -:ID ". 1o 1

p) 101

33, Whichoth following diagrams ndicate the best eltion bEOWEen Pro, Dy
and Bonus?
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th synonyms of the word UCurring iy, 1he sentence in capj
w :

tal |
see him s a MUN]FICENT heuﬂlﬂﬂl’g "ll“t nth&r:l:?g;

with appropriate prepositions from the ?1;¢mu.,.u Eivenbelon,
have the habit of fawning ministers.

o0y in the following sentences. )
‘mlf:::' why in spite of my best efforts to please him, my hoss is

T III--'
e i dodal
el fi
= i

- ‘_'I_.. .--_... | iu

(¥ scanned with OKEN Scanner



37 Select the related sb

28.

29.

30.

ape from the Bivey

Pl g

D

A)

i) i ,:),
e » [3]

Prabudh walks 8 km Eﬂﬂh‘-'ﬂrdﬁ. then g
goes S km. Which direction is he facip,

™S right and goes 4 km, then he twrns left ang

Ny ?
A) East
B) North Qb
C | Sﬂulh byl
D) West e

Select a figure from the Answer Figures which will continue the same series as established
by the five Problem Figures.

Problem Figures: Answer Figures:
Al? = 7% =[O & v :
r'f =ﬂ| X oL 0
x =la xlo al? oOi- 2
(A) (B) (€©) (D) (k) (1) @) I3y Ny
A 1 —
B 2 A L X
Gy =3
D)y 4

Selecta ﬁgl.lll‘ from lheAmH [-";gumwhich will continue the same SETIes as esl.ubli.‘ihf:d
by the five Problem Figures. A .
Problem Figures: Answer FIgures:

SIS i

(A) B © @ @® 1 @ (3) )
A) 1
B) 2
G 3
D) 4

(Set 'J‘} ‘g} IP_T’* 0.

] \
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